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QUESTION 1

Identify the two benefits of using Multi-Org Access Control. (Choose two.) 

A. View asset information across multiple asset books. 

B. Restrict access to users based on their Organization assignments. 

C. Submit and view data across different Ledgers using a single responsibility. 

D. Enter Payables invoices for different Operating Units using a single responsibility. 

E. View Consolidated requisitions across Operating Units using a single responsibility. 

Correct Answer: DE 

 

QUESTION 2

Identify three Fusion Business Intelligence products for Oracle E-Business Suite Release 12. (Choose three.) 

A. Oracle CRM Analytics 

B. Oracle Sales Analytics 

C. Oracle Treasury Analytics 

D. Oracle Financial Analytics 

E. Oracle Commodity Analytics 

F. Oracle Supply Chain Analytics 

Correct Answer: BDF 

 

QUESTION 3

Select four advantages that Oracle Daily Business Intelligence provides. (Choose four.) 

A. updates only changed data 

B. drills to a report from any linked value 

C. uses materialized views and incremental refreshes 

D. enables design of dashboards for a particular responsibility 

E. replicates data from a transaction instance to a reporting instance 

Correct Answer: ABCD 
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QUESTION 4

XYZ Corp. has operations in the U.S. and Canada. Within Canada, it has two separate Divisions due to Statutory
requirements: one in Quebec and another in Ontario. How would you define the organization structure for XYZ Corp.
from the information given above? 

A. two Ledgers, two Legal Entities, and two Operating Units 

B. two Ledgers, two Legal Entities, and three Operating Units 

C. two Ledgers, three Legal Entities, and two Operating Units 

D. two Ledgers, three Legal Entities, and three Operating Units 

E. three Ledgers, three Legal Entities, and three Operating Units 

Correct Answer: D 

 

QUESTION 5

Select the four access control layers associated with Oracle User Management (OUM). (Choose four.) 

A. Data Security 

B. Functional Security 

C. Registration Processes 

D. Delegated Administration 

E. Self Service and Approvals 

F. Role-Based Access Control 

Correct Answer: CDEF 
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